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1.  Standard costing helps in :
(a) Reducing losses (b) Measuring efficiency
(c) Controlling prices (d) None of these

2. Journal entry for distribution of free samples to potential customers will be :
(a) Customers a/c Dr.
To Free samples a/c
(b) Advertisement expenses a/c Dr.
To Purchases a/c
(c) Advertisement expenses a/c Dr.
To Free samples a/c
(d) Free samples a/c Dr.
To Customer a/c

3. On liquidation of a company, first of all payment is made in respect of :
(a) Liquidator’s remuneration (b) Preferential creditors
(c) Liquidation expenses (d) Legal expenses

4.  If capital employed is % 6,00,000, normal rate of return is 10% and actual average profit is
¥ 2,00,000, then super profit will be :

(a) %2,60,000 (b) ¥ 140,000 (c) 60,000 (d) %2,00,000

5.  Venture capital is :
(a) Capital invested in adventurous expeditions
(b) Capital for savings
(c) Capital invested in high risk projects
(d) None of these

6.  “Capital is a liability for the business.” This statement is based on :
(a) Separate business entity principle (b) Money measurement principle
(c) Principle of historical cost (d) All of these

7.  If the net assets taken over by the company are less than the purchase consideration, the
difference shall be treated as :

(a) Secretreserve (b) Capital reserve (c) Goodwill (d) General reserve

8.  Call paid in advance a/c is shown separately on :
(a) Assets side of Balance Sheet (b) Liability side of Balance Sheet
(c) Debit side of Profit & Loss a/c (d) Credit side of Profit & Loss a/c
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If closing stock appears in Trial Balance, then it will appear
(a) Credit side of Trading a/c (b) Assets side of Balance Sheet
(c) Both (a) and (b) (d) None of these

Responsibility accounting is :
(a) an accounting technique (b) afundamental tool of managerial control
(c) based on double entry system (d) None of these

Which budget is prepared when demand forecasting is difficult ?
(a) Production budget (b) Sales budget
(c) Cash budget (d) Flexible budget

Forfeiture of shares results in the reduction of :
(a)  Subscribed capital (b)  Authorised capital
(c) Reserve capital (d) Fixed capital

If amount of net assets is divided by number of shares, then value per share will be :
(a) Intrinsic value (b) Book value (c) Costvalue (d) Market value

Heavy expenditure incurred on advertisement for introducing a new product in the market
isa:

(a) Capital expenditure (b) Revenue expenditure

(c) Deferred revenue expenditure (d) None of these

In Break-even-chart, Y-axis represents :
(a) Cost and sales revenue (b) Value of output
(c) Volume of profit (d) Volume of loss

The difference between standard cost of material and actual cost of material is known as :
(a) Material yield variance (b) Material usage variance
(c) Material price variance (d) Material cost variance

Which is the correct formula for calculating labour efficiency variance ?
(a) (ST for actual production — AT) SR (b) (AT-ST) SR
(c) (ST for actual production — AT) AR (d) None of these

The balance in capital reduction account after writing off accumulated losses is transferred
to :

(a) Share capital (b) Secretreserve (c) General reserve (d) Capital reserve
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It is not necessary to determine goodwill :

(a) At the time of winding up of company

(b) At the time of absorption of one company by the other
(c) At the time of amalgamation of companies

(d) All of these

Main feature of a holding company is :
(a) Elimination of mutual competition  (b) Benefits of large scale production
(c) Benefits of separate identity (d) All of these

Contribution means :
(a) Sales — Variable cost (b) Cost — Profit
(c) Sales + Cost (d) Sales — Closing stock

When shares are forfeited, the share capital account is debited by :

(a) Paid up amount (b) Called up amount

(c) Calls-in-arrears (d) Nominal value of such shares

“A manager can supervise only a limited number of subordinates.” This is known as :
(a) Motivation (b) Management philosophy

(c) Span of control (d) Co-ordination

The concept of scientific management was given by :

(a) F.W.Taylor (b) James Watt (c) Henry Town (d) Elton Mayo

Which of the following is not related to business ethics ?
(a) Honesty (b) Moral values
(c) Opportunism (d) Self-imposed discipline

The first major step in planning process is :
(a) Forecasting (b) Objectives determination
(c) Formulation of derivative plans (d) Determination of alternatives

How many principles of management were laid down by Henry Fayol ?
(a) 8 (b) 11 (c) 14 (d 17

Authorised capital is more than :
(a) Issued capital (b) Called up capital (¢) Paid up capital (d) All of these

Separate legal entity is a prime feature of :
(a) Company (b) Partnership firm
(c)  Sole proprietorship (d) All of these
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Maximum discipline exists in :

(a) Line & Staff organisation (b) Committee organisation
(c) Line organisation (d) Functional organisation
SWOT analysis is used in

(a) Decision making (b) Motivating

(c) Organising (d) Directing and controlling

Delegation of authority takes place when a manager thinks that :
(a) the job is too difficult and hazardous.

(b) the job requires the high skill that he does not possess.

(c) he cannot look after all the demanding tasks himself.

(d) he needs to punish his subordinates.

‘Each subordinate should have only one supervisor whose command he has to obey.” This
is known as :

(a)  Scalar chain principle (b) Exception principle
(¢)  Unity of command principle (d) Authority-responsibility principle

In 1992, the banking sector reforms were introduced as per :
(a) C.Rangrajan Committee report (b) M. Narsimham Committee report
(c) Suresh Tendulkar Committee report (d) Sukhamoy Chakrabarty Committee report

What is OTP in credit card transaction ?
(a) Odd Transaction Password (b) Owner’s Trading Password
(c) One Time Password (d) One Time Pincode

Rate at which Reserve Bank of India provides loan to commercial banks is called :
(a) Creditrate (b) Loan rate (c) Bankrate (d) Interest rate

Which is the animal on the insignia of Reserve Bank of India ?
(a) Lion (b) Panther (c) Elephant (d) Tiger

From the following, identify the tools of Fiscal Policy :

(i)  Public expenditure

(1)) Open market operations

(iii)) Deficit financing

(iv) Taxation

(v) Reserve requirements

(a) (i), (iii), (iv) and (V) (b) (i), (i1), (iv) and (V)
(c) (ii) and (v) (d) (1), (ii1) and (iv)
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The place where bankers meet and settle their mutual claims and accounts is known as :
(a) Treasury (b) Collection centre (¢) Recovery centre (d) Clearing house

Which of the following is called Banker’s cheque ?
(a) Pay order (b) Credit note (c) Banker’sdraft (d) Demand draft

Basis of classification of Banks in the form of scheduled and non-scheduled banks is :

(a) Indian Companies Act (b) Banking Regulation Act
(c) Reserve Bank of India Act (d) Indian Finance Act
Paper gold is :

(a) Gold Funds in International Monetary Fund
(b) Special Drawing Rights

(c) Dollar

(d) None of these

Which of the following is not a selective credit control measure ?
(a) Margin requirement (b) Regulation of consumer credit
(c) Rationing credit (d) Secondary Reserve Requirement

Which of the following is a safety measure in banking network ?
(a) Router (b) Firewall (c) Modem (d) None of these

Quantitative credit control adopted by Central Bank of the country is :
(a) Bank Rate (b) Open Market Operations
(c) Cash Reserve Ratio (d) All of these

The term of Governor of Reserve Bank of India is :
(a) S years (b) 3 years (c) 4 years (d) 2 years

The Repo and Reverse Repo rates are resorted by Reserve Bank of India for :
(a) Liquidity control (b)  Credit control
(c) Settlement systems (d) Currency management

Which of the following is not within the supervisory purview of Reserve Bank of India ?
(a) Regional Rural Banks

(b) Mutual Funds

(c) State Cooperative Banks

(d) Foreign Commercial Banks operating in India




39. o8 T &l dhd ATE H fierd 2 U IR €Tl U Wdi ol (&R0l hid &, haaldl &
(a) HMNTIR (b) B HH (c) FgeH S+ (d) HHENEE TR

40. Tr=feriiga § @ fordl Sord <ok g1 AT & 2
(a) U-3ATEX (b) ThHisE HTE (c) SHHTHR  (d) Tuwsg™

41. STIYMEd Td -G Sehi oh &9 § Sehi o IFhT0T 1 IR §

(a) YR et SAferfem (b) s fafrmm stffrem

(c) YR T s arfufrm (d) e fem srffram
42. RIS &0 B

(a) ST GgT Iy A ol By (b) Ty e TR

(c) SfeR (d) THHHE T
43. Tr=fcifgd 5 9 19 91 w==Tens g e =1 U g 8 2

(a) EHTa () SRl (b) 3T 9T T FEEA

(c) HT@ h TR (d) ST S= STEwEeRdl
44. Tr=ferfga § o dfhm Aeas o s gran U 8 2

(a) TR (b) HREA (c) ®ieH (d) T A HIE TEI
45. <N hl hiiF Soh gRT I AT HIHATcHe T 907 8

(a) SHe (b) ol IR i FsRamd

(c) Tohg HIY U (d) Jaft
46. T TisTd Sk o T ST RIS BT &

(a) 599 (b) 399 (c) 49 (d) 299
47. WA fiTd §o6 o g 91 e fad W91 et skt Suan fohan St 3

(a) aterar freer & o | (b) Trg o o foru |

(c) Truem wgfa o feru | (d) = g1 vEeH & fog |
48. TrfaRea § & ®F WA fod g % Fiemmes dmes 5 18 8 2

(a) &g amfior S

(b) T HUSH

(c) TSI UgHh b

(d) wa o foramsfier fereaft snforfsaes s

T T E— S , B : Sonek




49.

50.

51.

52.

53.

54.

5S.

56.

57.

58.

59.

zSer‘ies-A}m 12

Reserve Bank of India issued guidelines to implement BASEL-III norms with effect from :
(@) July1,2012 (b) October1,2012 (¢) January1,2013 (d) April 1,2017

‘MUDRA’ means :

(a) Micro Units Development and Refinance Agency
(b) Money Units Debt Rate Agency

(c) Money Units Debt Rating Agency

(d) None of these

The fiscal agent and advisor to the Government in monetary and financial matters 1is :
(a) Reserve Bank of India (b) NABARD
(c) SBI (d) NITI Aayog

Management audit means :
(a) Audit of management accounts (b)  Audit for management
(c) Audit of managerial efficiency (d)  Audit of managerial qualifications

Cost audit is a tool of
(a) Directors (b) Management
(c) Factory supervisor (d) Government

What is the effect of decrease in variable cost on B.E.P. ?
(a) Decrease (b) Increase (c) No change (d) None of these

Famous experiments at Hawthorne Plant were undertaken by :
(a) P.F.Drucker (b) Elton Mayo (c) Henri Fayol (d) F.W. Taylor

‘Laissez-Faire’ is :

(a) Restricted Trade Policy (b) Free Trade Policy
(c) Protected Trade Policy (d) None of these
Industrial Development Bank of India was established in

(a) 1962 (b) 1963 (c) 1964 (d) 1965

Industrial Finance Corporation of India was established in
(a) 1946 (b) 1948 () 1950 (d) 1952

Which one of the following is not a function of the Small Industries Development Bank of
India ?
(a) Financing (b) Promotion (c) Advertising (d) All of these




49. YR fiwrd S F IEA-111 (BASEL-11I) AT | Haferd ARTERiehT STRI <ht ST quTet §

(a) TS 1,2012% (b) TSR 11,2012
(c) el 1,2013® (d) 31,2017

50. HgT (MUDRA) ST L2
(a) HTSShI YIH STATH TG NHTE~ Tod!
(b) T FEE I @ T
(c) o gfred e e wor

(d) A HE T
51. wifges wa foxf e § weenr 1 ot 31firepal wd aoiesr 8

(a) W fiwd S (b) e

(c) TH.S.3TE. (d) ifa s
52, TEY 37eheTUT T 3T 7

(a) TSET ORGl T ITeheTol (b) TS % foTu SFeheror

(c) SR HITCTAT T 3TheT0T (d) TEEHIT AFFATSAT T FTHaT0T
53. ANTA 37haTul Teh 3T &

(a) et =1 (b) TG

(c) HREHI qIdeTehi T (d) TIHRHI
54. ONEARIC TIRTA | ST 1 FHTI=sg fog (B.E.P.) T 91 Y9TE &1d1 3 ?

(@) (b) T () HEUNGHTE (d) FTHIABETE
55. BN wiie W afig v fepu g

(a) .U, UGN (b) Teed WA G

(c) T e g (d) T T, SR G
56. “HEI-HIAV B

(a) Afaatea smr Hfifa (b) I AR HAfd

(c) wfera = mm Hfifa (d) T A BE -
57. W 3Arefie foehre s i T 55

(a) 19627 (b) 1963 H (c) 19641 (d) 19657
58. W Jfenfiren fot fmm <t wore 53

(a) 19467 (b) 19487 (c) 1950% (d) 19527
59. freferfea § & S Rt o7 3e foehra S &1 T8 | 2

(a) ot diwor (b) e (c) Tomm= (@) Jaft

T T E— S , ey : Sonek




60.

61.

62.

63.

64.

6S.

66.

67.

68.

69.

S (¢ l“ieS-A}M ) o o 14

The Headquarters of World Trade Organisation is situated at :
(a) Washington (b) Geneva (c) New York (d) England

Which of the following statements is true ?

(a) Balance of Trade is also included in Balance of Payment.

(b) Balance of Payment is also included in Balance of Trade.

(c) There is no mutual interrelation between Balance of Payment and Balance of Trade.
(d) None of these

If sales are X 2,00,000, Fixed cost is ¥ 30,000 and P/V Ratio is 40%, then profit will be :
(a) %1,20,000 (b) 80,000 (¢) 60,000 (d) 50,000

Which of the following is closely associated with intellectual property rights ?
(a) GATS (b) TRIMS (c) TRIPS (d) MFN

Which of the following is related to GATT ?
(a) Uruguay Round (b) Basel norms
(c) IMF (d) All of these

Forfeiture of shares results in the reduction of :
(a) Authorised capital (b)  Subscribed capital
(c) Both (a) and (b) (d) None of these

“Scientific approach does not motivate workers but psychological approach does so.” The
credit for development of this human behaviour approach goes to :

(a) Stoner (b) Henri Fayol (c) Max Weber (d) Elton Mayo

Planning for anticipated future changes in environment is known as :
(a) Proactive planning (b) Reactive planning
(c) Both (a) and (b) (d) None of these

In a partnership firm, if a partner agrees to share his profits with an outsider, this outsider
is called :

(a) Sub-Partner (b) Sleeping Partner (¢) Active Partner (d) None of these

Which one of the following is not a member of World Bank family ?
(a) International Development Association

(b) International Finance Corporation

(c) Multilateral Investment Guarantee Agency

(d) International Monetary Fund
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In an ideal questionnaire :

(a) Number of questions should be limited
(b)  Questions should be clear and simple
(¢)  Questions must be short

(d) All of these

If regression coefficients are 2 and 0.45 respectively, the value of coefficient of
correlation (r) will be :

(a .90 (b) .30 (¢) .95 (d .03
Student t-test is the contribution of —
(a) Fisher (b) Gosset (c) Galton (d) Croxton

Age of applicants of Life Insurance and the premium of insurance are :
(a) Positively correlated (b) Negatively correlated
(c) Zero correlation (d) None of these

There are 6 seats in a vehicle. 6 persons can sit in
(a) 700 ways (b) 720 ways (c) 740 ways (d) 760 ways

The formula for calculating 2 is :

(@ x 2_ 0 } (b) x Z{ B
r 2
() 2= %} (d) None of these

Variance-Ratio Test is also called :
(a) t-test (b) F-test (c) Z-test (d) y2-test

When regression lines intersect each other at right angle, the correlation between them is :
(a) Positive (b) Negative (c) Zero (d) None of these

The literal meaning of regression is
(a) Forward movement (b) Return back
(¢c) Go upward (d) Go downward

Which of the following is not a two-dimensional diagram ?
(a) Square diagram (b) Rectangle diagram
(c) Pie-diagram (d) Bar-diagram
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Maximum number of members in a Private Company is limited to :
(a) 100 (b) 200 (c) 300 (d) 400

The sampling technique where each item has an equal chance of being included in the
sample is known as :

(a) Random sampling (b)  Quota sampling
(c) Extensive sampling (d) None of these

Which of the measure of central tendency is determined with the help of cumulative
frequency curve ?

(a) Mean (b) Geometric mean (¢) Median (d) Mode

Which of the following is correct ?
() Z=3M+2X (b) Z=3M+2X (¢c) M=3Z-2X (d) Z=3M-2X

Correlation coefficient is taken to be significant, if :
(a) r>5PE (b) r>6PE (c) r<6PE (d) r=6PE

Which of the following is not an input device ?

(a) Keyboard (b)  Scanner (c) Printer (d) Mouse
ROM stands for :

(a) Read Once More (b) Read Only Memory

(c) Read Odd Memory (d) None of these

WWW stands for :

(a) Watch Wait Work (b) Word With Word

(c) World Wide Waste (d) World Wide Web

Administrative section of the computer system is known as :
(a) Input unit (b)  Output unit
(c) Memory unit (d) Central Processing Unit

The fastest memory in a computer system is :
(a) ROM (b) RAM (c) Cache (d) None of these

A terabyte comprises :
(a) 1024 Gigabyte (b) 1024 Megabyte
(c) 1024 Kilobyte (d) 1024 byte
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If sales volume is ¥ 20,000, variable cost is ¥ 12,000 and profit is I 4,000, then profit/volume
ratio will be :

(@) 20% (b) 33% () 40% d)  60%

Which one of the following is not a technique of capital structure analysis ?
(a) Cost of capital (b) Capital budgeting
(c) Capital gearing (d) Trading on equity

Liberal credit policy results in :
(a) Decreasing bad debts (b) Decreasing sales
(c) Increasing bad debts (d) None of these

In accounting, profit prior to incorporation is treated as :
(a) Revenue reserve (b) Secret reserve
(c) Capital reserve (d) General reserve

Premium on redemption of debenture is :
(a) Personal account (b) Real account
(c) Nominal account (d) None of these

Standard costing cannot be used :
(a) where management is inefficient.
(b)  where standard products are not manufactured.

(c) where workers are slow.
(d) None of these

Period cost means :
(a) Primecost (b) Fixed cost (c) Variablecost (d) Total cost

The difference between Actual cost and Standard cost is known as :
(a) Profit-volume ratio (b) Differential cost
(c) Variance (d) Margin of safety

If total capital employed in the firm is ¥ §,00,000, reasonable rate of return is 15% and
profit for the year is I 12,00,000, then value of goodwill of the firm, as per capitalisation
method, would be :

(a) %80,00,000 (b) <1,20,00,000 (c) I 72,00,000 (d) <42,00,000

Discount on issue of debentures is a :
(a) Fixedasset (b) Current asset (c) Real asset (d) Fictitious asset
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